REVIEW EXERCISES

CHAPTER 1

1.1 Iin Exercises I- 3 write each English phrase as an algebraic
expression. [ef x represent the number.

1. Ten less than twice a number

2. Four more than the product of six and a number

3. The quotient of nine and a number, increased by half of the

number

In Exercises 4- 6, evaluate each algebraic expression for the given
value or values of ihe variable

42— Tx+ 4 forx =10

5.6+ 2{x — 8) forx = 11

6. x' — (x — y).forx = 2and y = |
In Exercises 7- 8, use the roster method to list the elements in
each set.

7. {x|xis a natural number less than 3}

8. {xlxis an integer greater than —4 and less than 21
In Exercises 8 11, determine whether each statement s true
ar false.

9. 0e {x|xis a natural number}
10, 2 < {x|x is a rational number}
11. lz-.-' { x| xis an irrational number}

In Exercises 12- 14, write ouf the meaning of each inequality. Then
determine whether the inequality is true or false

12. -5 =2
13, -7 =-3
W -7=-7

15. You are riding along an expressway traveling x miles per
hour. The formula

§=00152% + x + 10

models the recommended safe distance. 5. in feet. hetween

1.2 in Exercises 16- 18, find each absolute value.

16. |-0.7 17. |5.003 18. |0|
In Exercises 19 30, perform the indicated operafion.
19. 24 + {-52) 20. 68 + 24
2. -7 — (20 22, (-3)(—2)

3 1 2 3
2 2 (1) 2 (2)(-5)
25. 432310y 26. (—2)?

5 2 8
27. 2 28. 373

35 54.6
29. — 30. —

31. Find —xifx T
In Exercises 32- 38, simplify each expression.

. 1Y
32 11— [-17 + (-3)] 33.( E) .24
3. 3[4 — (6 — 8)] 358036+ 384 - (-T)
(—2)" + (-3 (T 9P — (4
3. 22— -2 3. 2+ 2(8) 4

384 (3-8 + 3647

Iin Exercises 30 43, simplify each algebraic expression.
39, 3(dx — 3) + Tx

400 50+ Tad — dw + 248

41, 3(dy — 2) — (Ty + 2)

42, 8 - 2[3 - (dx — 1)]

43, 6{2x — 3) — 5(3x — 2)

1.3 In Exercises 44-46, plat the given paint in a rectangular
cooidinate sysie.

M4 (1.3 15. (2, -5) 46. (0. &)
In Exercises 47-50. graph each eguation. Lei x 3, -2
10,1, 2, and 3

17 vy =2x — 2 18. y = x* - 3

49, y =x a0 y = x — 2

31. What does a [—20, 40, 10] by [—5.5. 1] viewing rectangle
mean? Draw axes with tick marks and label the tick marks to
Hlustrate this viewing rectangle.

The casefoad of Alzheimer’s disease in the United States {5 expect-
ed to explode as baby boomers fead into their {ater yvears. The
graph shows the perceniage of Americans with the disease by age
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{In Exercises 52- 54, be sure {o refer o the graph on the previous

page.)

52. What percentage of Americans who are 75 have Alzheimer’s

disease?

53 What age represents 50% prevalence of Alzheimer's

disease?

4. Describe the trend shown by the graph.

@

tion: A train pulls into a station and lets off its passengers.
a. b.

1 aVaVa

Train's Speed
Train's Speed

Time Time

Train's Speed
Train's Speed

Time Time

1.4 In Exercises 56- 61, sofve and check each linear equation.
56, 2x —5 =T

57. 5x + 20 = 3x

58. T{x —4)=x+ 2

59, 1 - 2(6—x)=3x+ 2

60. 2({x —4) + 3(x +5) =2x — 2

61. 2x — 4(5x + 1) = 3x + 17

In Exercises 62 66, salve each equation.

2x  x X 1 r 1
2x X X x—3
64. 5 6 1 65. 1 2 3
3x 1l 13 1 x
6. 3 5 1

In Exercises 6771 solve sach equation. Then state whether the
equation {5 an fdentity, a conditional equation, or an inconsistent

equaiion.

67. 7x + 5 =5(x +3) + 2x

68. 7Tx + 13 = 4x — 10 + 3x + 23
69 Tx + 13 =3x — 10 + 2x + 23
70, 4{x —3) +o=x+5(x—2)

fnn Exercises 6771, solve each equation. Then state whether the
equation {s an fdentity, a conditfonal equation, or an inconsisient

Squaion.

67. Tx + 5 =5(x + 3) + 2x

68. 7x + 13 — 4x — 10 + 3x + 23

69. 7x + 13 = 3x — 10 + 2x + 23

70, 4(x —3) +5=x+ 5(x — 2)

L (2x —3)2 — 3(x + 1) = (x — 2)4 — 3(x + §)

5. Select the graph that best lllustrates the following descrip-

72

The bar graph shows the number of endangered animal
species in the United States for six selected years. The data
can be modeled by the formula £ = 10x + 167, in which E
represents the number of endangered species x years after
19800 If the trend indicated by this model continues, in which
yvear will there be 437 endangered animal species in the
United States?
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1.5 in Exercises 73 79, use the five-step strategy for solving word
probiems.

73

7.

7.

The fast-food chains may be touting their “new and
improved” salads, but how do they measure up in terms of
calories?

Burger King Taco Bell Wendy's
Chicken Caesar  Express Taco  Mandarin Chicles
Salad Salad
Momber of calories Number of calories
exceeds the Chicken exceeds the Chicken
Cavsar by 125. Capsar by 95,

Sowree: Newswook

Combined, the three salads contain 1705 calories Determine
the number of calories in each salad.

One angle of a triangle measures 10° more than the second
angle. The measure of the third angle is twice the sum of the
measures of the first two angles. Determine the measure of
each angle.

Combined, the three salads contain 1705 calories. Determine

the number of calories in each salad.

One angle of a triangle measures 1" more than the second
angle. The measure of the third angle is twice the sum of the
measures of the first two angles. Determine the measure of

each angle.



75. The bar graph shows the number of endangered plant species

76.

(e

78.

79.

80.

in the United States from 1998 through 2003, In 1998, there
were 567 endangered species. For the period shown, the num-
ber of endangered plants increased at an average rate of 6.4
species per vear. If this trend continues, in which year will there
be 663 endangered plant species in the United States?

Endangered Flamt Species in the LS.

Number of Endangered Species

1998 1999 2000 2001 2003
Year
Sewrreer LA Flsh anc Wildlfe Servioe

You are choosing between two long-distance telephone plans.
One plan has a monthly fee of $15 with a charge of $0.05 per
minute. The other plan has a monthly fee of $5 with a charge of
$0.07 per minute. For how many minutes of long-distance calls
will the costs for the two plans be the same?

After a 209 price reduction, a cordless phone sold for $48.
What was the phone’s price before the reduction?

A salesperson earns 5300 per week plus 596 commission of sales.
How much must be sold to earn $800 in a week?

The length of a rectangular field is 6 vards less than triple the
width. If the perimeter of the field is 340 yvards, what are its
dimensions?

In 2005, there were 14,100 students at college A, with a pro-

Jected enrollment increase of 1500 students per vear. In the

same year, there were 41,700 students at college B, with a

projected enrollment decline of 800 students per year.

a. Let xrepresent the number of yvears after 2005, Write, but
do not solve, an equation that can be used to find how
many vears after 2005 the colleges will have the same
enrollment.

h. The following table is based on your equation in part (a).
Y| represents one side of the equation and Y, represents
the other side of the equation. Use the table to answer the
following questions: In which year will the colleges have
the same enrollment? What will be the enrollment in each
college at that time?

PR Wz
FRE| NG00 | 6100
B zeion | 35300
g z7aon | Z4Ean
in zoion | Zzran
11 ogon | 32000
iz Zedom | 32100
iz 3aon | 3300

H=7

In Fxercises 81- 86, salve each formula for the specified variable

81V %Bhforf}
82. v w=m(x - x)forx

8. E IR+ r)yfor R

8L C whr F

85. 5 = vt + gifforg

86. T —gr + gutforg

1.6 In Exercises 87- 101, simplify each exponeniial expression
Assume that no denominators are (1

87, (—3x7)(—5x%)

1 e Kt
B8, x°y 89.
xy = T
90, (%) °F 01, (Tx'y)?
16y 1 1
92. P 93, (—3aM{da)
v
7 5
T 95. 710“;",’7
dx 20a b
96, (—3xy")(2x8)’ 97. 2% 4 %xﬂ
98. (5:iy Yy 99, (3x'yE)(- 2y H
I )2 20472333
100. = 101 | ————
Sxty 10x"y™
1.7 In Exercises 102- 103, write each number in decimal notation.
102. 7.16 = 108 102. 1.07 = 107

Inn Exercises 104 105, write each number in scientific notation.
104, —41,000,000,000,000
105. 0.00809

In Exercises 106~ 107, perform the indicated computations Write
the answers in scientific notation.

106, (4.2 > 103 = 107%)
5% 107"
Co20 w1 d

108. If the population of the United States is 2.9 > 10 and each
person spends about $150 per year going to the movies (or
renting movies), express the total annual spending on
movies in scientific notation.



